5248 FE& 1550—7 R 1580\—7

B

Ho|
Ho|

h7 Aa—h 1% HT Ba—F

8:00 SRR

1| 805 | U-10|¥1nbozrsc|Fesi—ver| KFRFC [#9ra—~re] 1 | 8:05 | U=10 |FC YANAKA|zt—niAsA| FOFE YR S| H3)—=aFc

2 | 845 |U-10| KFFFC |¥ozra—~rc|HqLbyrsc|Feri—2Es] 2 8:45 | U-10 [FC7E R 4| h+U—=aFC|FC YANAKA| 2—hiraH|

3| 9:25 | U-10|%1Lkmzsc|FC YANAKA| KFRFC [FcrEuR%] 3 9:25 | U-10 | Fe/s—> &y [ rte—nnrxx| 49 zx2—~Fc| h¥1y—=aFc

4 110:05| U-10| KFRFC [FcrEURE|Y1bszsc|FC YANAKAL 4 [ 10:05| U-10 | #zxa—~Fc| hFy—=aFC| FC/R—L D [ 2E—hnrzkA|

5 [ 10:45| U-10 |51 kozsc|zk—nixsx| RKFFFC [H+v—=arc] 5 |10:45]| U-10|Fc/i—E2|FC YANAKA| #21—~FC|FCTE RS

6 |11:25| U-10| KFFC |p+u—=arc|Frirozrsc|za—mxxx] 6 |[11:25[U-10|v»ra—~rc|FCFEYR%|FC/8—E|FC YANAKA

8 | 12:05| u-10 REBEL AER ARER 8 |12:05|U-10 3R TE B KEB RER
12:45 =ER
u-10
AT IL—T [Henrszsc|rors—s L [FC YANAKA zE—snxsx| B | BT | 21T 5 =1 [ 35~ [[I=E v
N X @) (@)
JAILEHRSC -8 1420 6-0 2 1 0 21 8 6 2
RN @) @) @)
FON—2FL o7 23-0 1820 3 0 0 49 1 9 1
X X X
FC YANAKA|  °, 0-23 = 0 3 0 1 39 0 4
o L X X O
RIR—HILARER 0-6 0-18 2-1 1 2 0 2 25 3 3
U-10
BV IL—7 | K#ZFC [99=a—~ro[FePEYRS|nry—=afc| B | AT | 1T = ke | bR | NER
A O (@)
KFHFFC - 420 e 2 0 1 9 3 7 1
R A X O
Y¥9R1—~FO| T -2 2.0 1 1 1 4 3 4 3
N X (@) (@)
FC7EYURA 04 e 1120 2 1 0 13 5 6 2
- X X X
hru—=arc| 7, 0-2 0-11 0 3 0 2 17 0 4
RIRIER BRESEE HTF—L
& FC/A—EY
AIfL| FC/R—IFY .
8 % REB RFRFC
i
] St FCTEYRS
R FC/N—>FY
0
B14iL KFHFFC
3L R E B
A2 | JqILRHRSC 0
FCTERA
B24it FCTE!R#% 4




